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R.L.G| 23 |MhFREE&s 2,100 mol 2, 1oo| 2,100 0 0 0 0 0 0 0 q
Re.2.21) 24 [ Fé#rEEnE 2,100 wol 2,100 2,100 0 0 0 0 0 0 0 ol




(EfEL4) A
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[41—7v0&352]
(&$HIZ4EE38 5) [hmhi ]
(BifsF : )
- XX FANE (FUOAR
£RE | xmm REHITHAEE - 5 WA | ;’5’;5";
s o) wame [ wer | emm | mecen |FREEEE) pqiom [ waman | smmm | smx | anm
R2.3.9| 25 |MiTiEEM%E 2,100 IOOI 2.1oo| 2,100 0 0 0 0 0 0 0 0 oi
R2.1,30| 26 |JRE%rz 2,200 mul 2, 2oo| 2,200 ' 0 0 0 0 0 0 0 0 —ol
R2.2.14| 27 |JREIB# 2,200 on 2, 2001 2,200 ) 0 0 0 0 0 0 0 o|
R2.8.22] 28 (MBS vE—2ivTRASAR 43,308 50' 21, 854 0 21, 654 0 0 0 0 0 0 0 ol
o' 0 0 0 0 0 0 0 0 0 ol
Ak of 492 365 435, ws[ 11,638 21,654 1.2000 373,807 0 of 14898 4,009 7,082 ol
=i 0| 4,766,031 4, 321.657[ 250,205  90,035] 35, 158| 3,474, 486 0 o 1050570  15.463] 207.302] 48 a?ol )




